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Use Sine and Cosine to find a length 
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4. Spot the mistake. 

5. A ladder is placed against a wall.
The base is 1.6 m from the bottom of 
the wall, at an angle of 60o with the 
floor.  
What is the length of the ladder?

 

Use Sine and Cosine to find a length 

15cm

40°

 
30mm

42°

 

3.8m

27°

 

5.4cm

33°

 

 





  

Use Sine and Cosine to find a length 
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4. Spot the mistake. 

5. A ladder is placed against a wall.
The base is 1.6 m from the bottom of 
the wall, at an angle of 60o with the 
floor.  
What is the length of the ladder?

 

Use Sine and Cosine to find a length 

15cm

40°

 
30mm

42°

 

3.8m

27°

 

5.4cm

33°

 

 

20.1mm

8.37m

6.44cm

11.5cm

Should have used cosine

3.2 m


